gQPW&\O\Q Eq UOJLCOQS O

A SQ?G\)O\{O lp(\@‘@k%'LC\/Q Qqu@\*\;—tg(\ -
s one of %e $orm ﬁiﬁ{ ?(ﬂ)ﬁé@)

To solue 11 e Sepesad-e i+ =Se
On One Side we ;U st have x’<
‘&: o N R e &%@" Sitde Lol \ewue %f S

d (<> dv
C'“Dﬁ k

\oc%\ S\Aég g OKQLA Ok 'i‘ C./
Losa e KAAQ?Q/\Q_@CP

e

1 /\4’66\”&&’@

ot (v ble Cin Tais Cese

SG\\:Q %r 6{ I@ %Ou& Caane .
A\\R’\O‘Jjb\ %\«é PVQCQSX ES |
St Coreoesd | F (s @thg

Cas o Mess J\’Q/\.QSQ U"‘D&



E XO\M@&@ S Fromn D ey e/b\r{c_i;Q

WS % Edeoesds i'?‘g./k(\*@_j
ExAL  Solve exp\icfi%\é g:;m\%

{

| | /
%i} £ (6%(\33 >

ot Row as =
o g
\te A bé S

% Pt we teed
g\\mc.HOA o X moli v
, < \ c e o sl
otion o udle Va2 i nessin
VS \JP 6‘ j

dua _ , 5.3 4

T 64X 4

oLu = : .”5 1/3
31Xy

§3dy = Cuxdx

g 4L 4/
2y%5 =4(3)x2 + C

3



> s ~ H/
242237 r C
K Hoe Vs wWhere ?eoPlé st to

Mmess VP T Selue ,\SFC"_ gy W<
Need o 8_@“1? % |5 Frsel€

Y AN

u®=3(3") + 5C

e
C 15 Josb & Constont,

o S _
S = C V< @u\tﬁ{/k%f
QOAS*O‘AAF

Note ! '\é: CZKQ/‘%)Z + Cl s \/@\é
Veﬂé wron%

|l (kowoise So 1S

be (24)% +C



Ex2  Sslve Fhe | VTP

R
28‘“ N % )

X Need Jo da o U-sSdln
U=x"=16

4o T um e C
4" =\ = C




D O &Q%’efm é’\() hi Q (A€ D @/UL‘\“
Hrie T o FHre — Lue Need -+

5

lock oF Rre }/\iHo\_Q CQAQ&CHCJ/)
%C’B> =) BQ Cause Loe haue
2 we'll  use e T

4= e +C

2=\ \Ew + C
Z:‘\r\f? + C

———

2"V c — =y

X Aﬁ“”d"‘v hote Hned lren woe ’f-@ujcgv
o Square vodt of botu wdes  ue
COU\q’ A lhooS ¢ u)v\ﬁ,d— ng_—ﬁg O So/qu\fp
ot ) 1+ heeds Jo Be Hae e
r%m— sde. T

&



E}Q% A
X O 5 3

¥ We l/taue O\‘EH\Q L;Jcsvt Jo do
hofore iF s WA i Yo V'CCS\& Lo0m

d —
ﬁ:Zxé\z%%\

\\6\ _ @x +nlel +
X2~+—[f\1>t\ C
\\3\ = & e
¥ oc £ we like b@iﬂj “E““Cé

_ X2 Akl &
\‘6\ € ¢ e



X?- %\OUF Jre5-(—
%:Kxe
%m:\
| = Ke
k=&

o

| 3@3:C>
X e need Yo ger o 1A
o correct %ri

dy - g 5

dy o€ <



% - 2X =M

15~ be e

s

5@%13 = Yé e “dy
Qﬂ = %ezx + C
Cfﬁ =3+ C
é = |a C3€2X+ CB

é(@)r—o

%wO :IA(BQO “‘C)
e Knovo In\ =0 . so
Lo €

.

n
ced o ser 30+ C = |
3+C=[—>C=-—5




